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PSI-UBTIRE L | 564,567 | 17.0 507,707 | 15.2 569,838 | 15.7 11.2 £0.9
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ToExF 1,613,127 55.3 1,621,424 559 1,731,613  55.0  ~A0.5 N6.8
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- FHE5A 342,000 | 11.7 193,300 6.7 193,300 6.1 76.9 76.9
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A A= 10,000 0.3 10,000 0.3 10,000 0.3 0.0 0.0
M2 = & 79,306 2.7 68,369 2.4 151,771 4.8 16.0 | A47.7
A M 2= 20,257 0.7 18,727 0.6 18,590 0.6 8.2 9.0
- Aol g 2=l 741 0.0 748 0.0 770 0.0 A0.9 N3.8
CAHEE Y 3,498 0.1 2,845 0.1 4,861 0.2 23.0 ~128.0
F5asY 3,251 0.1 3,093 0.1 3,858 0.1 51  A15.7
A 1,776 0.1 1,769 0.1 1,829 0.1 0.4 A2.9
AFARF59 3,991 0.1 3,272 0.1 3,272 0.1 22.0 22.0
- 0] 2+4=9) 7,000 0.2 7,000 0.2 4,000 0.1 0.0 75.0
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coldH - - - - 1,408 0.0 0.0 A100.0
A= 5,805 0.2 4,626 0.2 7,468 0.2 25.5 | A22.3
SAFYAFS5 3,261 0.1 3,111 0.1 3,111 0.1 4.8 4.8
Sea 13,275 0.5 15,164 0.5 24,385 0.8 | A12.5 1456
#49) 12,519 0.4 2,114 0.1 23,073 0.7 4922 A457
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